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#  Problem 3.7-5,  Asmar 2nd edi t ion
# Some hand calculations were done before coding below.
#  B_{mn}=0 for  a l l  m,n
#  B_{mn}^*  =  (16 /sqr t (m^2+n^2) ) (1 / (mn) ) (1 /p i^2)  for  m,n  odd,  
# B_{mn} = zero otherwise
Bstar := (m,n) -> (16 /sqr t (m^2+n^2) ) * (1 / (m*n) ) (1 /P i^2) ;

p h i : = ( x , y , t , m , n ) - > s i n ( m * P i * x ) * s i n ( n * P i * y ) * s i n ( s q r t ( m ^ 2 + n ^ 2 ) * t ) ;
 

N:=20:  #  Number of  part ia l  sum terms is  N^2=400.
 
u:=(x ,y , t ) ->sum(sum(Bstar (2*K+1,2*L+2)*phi (x ,y , t ,2*K+1,2*L+1) ,L=
0 . . N ) , K = 0 . . N ) ;
 

p l o t 3 d ( u ( x , y , 0 . 5 ) , x = 0 . . 1 , y = 0 . . 1 ) ;
 



>  >  p l o t s [ a n i m a t e ] ( p l o t 3 d , [ u ( x , y , t ) , x = 0 . . 1 , y = 0 . . 1 ] , t = 0 . . 3 ) ;



>  >  

t = 0.

plots[display](%,axes=none);
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